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EE 483/583 Antennas for Wireless Communications
Quiz #6 (Spring 2024)

Name /é e/(/

Instructions: Open book/notes. Put answers in indicated spaces & show all work for credit. ¢ =2.998 x 10 m/s.

A 2.38 m long, thin, center-fed, linear dipole is located along the z-axis, centered on the origin, in free
space. When operated at 44 MHz, calculate the length of the dipole as a fraction of a wavelength (¢/X)
and the wavenumber k. Is this dipole considered infinitesimal, finite, half-wavelength, or small? If the
antenna is driven by a phasor input current of 0.24 Z0° A, find the far-field vector electric and magnetic
fields with all know quantities used. Then, find the vector radiated time-average power density.
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